W plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Rustic/Mahogany Series
Fiberglass Single Door
w/ & w/out Sidelite(s)

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Plastpro Fiberglass Door described herein complies with the 2004 International Residential Code
(IRC). Sections R301 & R613 and the 2006 International Building Code (IBC), Sections 1405.12, 1609,
1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective system for
installation in the Seaward, Inland | and Inland |l areas. This product meets missile level “D"
and includes Wind Zone 3 as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Sidelite panel details and glazing detail

Elevations

Horizontal cross sections

Vertical cross sectlions

Vertical cross sections

Frame anchoring

Bill of materials and components

—

Q|0 |N|ON || AW

60.63" MAX. OVERALL

- FRAME WIDTH
e =
=
[ —
5 2
o I
w %
i
= <
éE
o 2
s 3
) S
Z 0
3:}
g g .
5 3 x _|°
X 5
<
: 3
o b
R =
O~

1.5" —o| |=a—
435 FRAME __|

WIDTH

15.63" FRAME _|

WIDTH

XO/0X

60.63" x 98.0"

ssetaves (_p

CHMIDT &

LYNDON F. S

77.75" MAX. OVERALL
FRAME WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

PLASTPRO
FIBERGLASS DOOR
PART OR_ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

6.5" X 78.5"

1.5" —=
43.5" FRAME

WIDTH

15.63" FRAME

WIDTH

+55.0

-55.0

NOJ DATE

DaTE: 12/04,/12

scALE:  N.T.S.

DWG. BY: JK

OoXo

77.75" x 98.0"

6.5" X 78.5"

+55.0

-55.0

CHK. BY: LFS

DRAWING NO.:
TX—4288

SHEer 1 oF 9

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, TX-4288

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, 2.2

CAP (COMP.) STEEL REINFORCEMENT (0.125" X 1.375") CAP (COMP.)
| 3 446" ————————= 3.66"
. A R v
i A \‘\.—///. R AR IR y.. o B »,w :
5 Ven et g R T
ey 7 e e
HINGE STILE
LATCH STILE
ENGNEREDLUMsER) (1) HORIZONTAL CROSS SECTION (ENGINEERED LUMBER)
N2
~=— 41.75" MAX. PANEL WIDTH —=
[}
AT 1T TS
B
3
=
(Y]
L
b= =
o — SEE HARDWARE TABLE
Z ] =d
& 3 ///’¢
ST e
2 pol ==
g 7|
(1N -
\2/ ~

. DOOR PANEL
Rustic / Mahogany Series

>

FIBERGLASS DOOR SKIN: MIN. 0.100" THK.
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

KWIKSET

KNOB:

SIGNATURE SERIES
DEADBOLT: SIGNATURE SERIES (780)

BOTTOM RAIL —

(COMP.)

1.25"

\TOP RAIL

(COMP.)

DOOR SKIN

I FOAM CORE
/4
Y/
A
B 2y,
- . °’v_ v Zu-)“

=—1.75" —=

/" 2"\ VERTICAL CROSS SECTION

N2/

uj
aq
£, Ed
£ %%
R N T S
.p o
c 23 - k]
) Z o2 gz
e < 2% 5o
> EE3 BE
3 dg©o 0
256 ﬂE
z L
3 gR"® 98
@ oON = aw
(] [
o 0 XZ w
) z 8 oL
[ ] o
5 9.8 4
¢ 502 gp
o Mmoo 55
m=
r X GE
5 E
E @% 8
3
(7]
[*]
(a]

e 3
o8 | B
=5 a

(7o) R
293 |3 =
N [ 3

o B x
gﬁi 9
io |9 S

=S e 8
§ o
S 3
o o
>
o
%)
=z
O
2]
[
Ly
<
a
o
=z
DATE: 12/04/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4288

SHEET 2 oF 9

© 2012 R.W. BUiLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, 2-3

| 04" EXTERIOR
J TR, r E
:-u?: ;" B : = S 3
I . 4. ' b
INTERIOR
CAP (PVC)
/"1 "\ HORIZONTAL CROSS SECTION
3/
3
13.88" O.A. E;
WIDTH 995" OA
WIDTH
I
65'DLO._ | ¥ |
WIDTH —‘
[
m in o
\3/ b JE
=
2 )
= =
< 5 &
o Y o —1
) -
o < O ($)
1=.I.') O >
3 5 :
@ @ =
in
=
(TYP.)
y
ODL LITE FRAME

. SIDELITE PANEL

b
_ TOP RAIL tg "
g (COMP.) £2 o e
'Ill ﬁ * n % E
ol oM o7
z z
i R w = o o IS
1] = . "-.j et ? Eg E oE. ::I*
' ] | i §F 248 28
% : l AT - 334 OF
N = i i ggo &b
i e % QR. E8
* \ =z i, a9 14 : g g zo ;E
Cw T gl o g7e _o
STILE (LVL) § 3592 g
84" ST e r ALE 3%
< a4 8 S ic
'. .'.‘ . ' ' s E
ODL LITE FRAME e E X %3
Aluminum Ao 8
PR a
' » < W
3 GLASS BITE 11/16" S BE
12 =]| 4o
13 onls T2
12 —— 1" OVERALL GLASS THK. /@ ﬁ ] EZ‘E
1/8" ANNEALED GLASS 2|3 o
L 0.090" PVB INTERLAYER il N ] B gg
SAFLEX BY SOLUTIA INTERIOR EXTERIOR 5 & %“‘
% N \§ 1/8" ANNEALED GLASS g '%':
T : \ AIR SPACE
1/8" TEMPERED GLASS &
4 ALUMINUM SPACER
5
GLAZING DETAIL N |
FIBERGLASS SKIN g4 Z
(0.100" MIN. THK.) \ R B %
g g gy =
A o
; ’l‘-' S o
/ P
‘1 v ’ vy,
FOAM CORE/ ey .
(POLYURETHANE - 9 iy W =
1.9 PCF MIN.) P e Ll
" Iz
()]
O
=
BOTTOM RAIL 1 DATE: 12,/04/12
(COMP.) scALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
/" 2"\ VERTICAL CROSS SECTION SRAWNG 67
\3/ TX—4288

SHEET 3 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| SANVYLINSNOD aNIgng "m'sd oLoz @

zs8ll—4 # NOLLVMLSIORY 40 3LVOLJLLNID 5 SNOISIAJY T Te
SHIINIONT TYNOISSIJONd JO QYvOS Swxal SNOLLYATT3 m vlxle| « 9_
L616'6S9°CLE TON Suoyd - RS By
SE6SEE 14 O2MIDA 0£Z X°F ‘O'd \Sug. 'ATENISSY ¥O Ldvd M W 3 Q o
*ONI "SINVLINSNOD SNIQIINE W S FE 4_

y00a SSv19y38l4 - . |&|&|e &

cZIvoL# "I'd SvxaL 0¥d1SYd i M 6|l &
‘3'd JpIUYsS ‘4 uopui :Ag peupdelq sjuswinooq :17$NQa0yd (21515 m b

"4 O =
SRR =

R @) X
ﬂs
op@
\ )
>
O
= 6
’ m
>
PH=N
D
~ < . O (Nw |l = N

7

q
///
O

3

A4

/

V4

/

\_5

T
D
3V a
&/ A/ \2/ \»J
ELEVATION (XO - OX|

hv g

-z 'BMp 8-/ 87H-X1\sBuIMeIQ DMy ‘a\z99T 4d\00.T - 1097 [o1d\siop|od alord\soafoid - v\



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, 2-5

EXT. SHEATHING 7

9
EXTERIOR

1

ol

=

40
7 INTERIOR

NOTE:

DRY\[NALL / Cé d)J

—®

0.15"

[~=— C'SINK
{TYP.)

m HORIZONTAL CROSS SECTION

\y Outswing shown - Inswing also approved

1. Spacing for item L: 6" from ends

and 9 more equally
sidelite (11 total).

spaced along

50

/ EXT. SHEATHING

CSINK —=

EXTERIOR
S
SEENOTE |
INTERIOR
0.15"
(TYP.)

/~ 4\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

EXTERIOR

/

=

SEE NOTE 1 5 ?

b

5

NN

m HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

A\

INTERIOR

/"3 "\ HORIZONTAL CROSS SECTION

EXTERIOR

QSEE NOTE |

w Outswing shown - Inswing also approved

(50

INTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC.
Phone No.: 813.859.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

o ]
)
sg 2
209 E:
ol =2
xx on
aylal N
Holz ER
el S
Suwlg £
am << O
i L
5 e
= o
o E
& &
>
o
")
Z
©
(%}
ol
o
!
<
[
o
pd
DATE: 12/04/12
scALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4288

SHEET 5 ofF 9

@ 2012 R.W. BUILDING CONSULTANTS INC.



EXTERIOR INTERIOR

§ .

=N

WOOD

/"2 "\ VERTICAL CROSS SECTION (D) CoNCReTE
w Outswing confirguration

DRYWALL

} g
=
.Zﬁﬁfﬁﬁﬁff,\

A ———F —F e

0.15"
C'SINK —s—f [=—

(TYP.)

INTERIOR

EXTERIOR

m VERTICAL CROSS SECTION

\é/ Inswing shown - OQutswing also approved

/i

\e

%/

46

S AN

K ) wOOD

m VERTICAL CROSS SECTION (D ) CONCRETE

\é/ Shown w/ ADA threshold

/ EXT. SHEATHING

EXTERIOR ,,”\ INTERIOR

2 ?.

@
7257k

S

‘, WOOD

/ 4\ VERTICAL CROSS SECTION (D) CONCRETE

\J Inswing confirguration

mmP’

BN ‘(\A‘)

/1111117 :mw’w 1

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

W)
=
o
o -
e | (&
o ]
28 o
v
% BB
R NE &
noOl= ©
Y 1
TG 3
e =~
HNCE
= O W
D }
2l &
o o
>_
fia)
]
=z
o
\%]
|
o
L
<
o
o
z
DATE: 12/04/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4288

sHEET 6 oF 9

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, 2-6

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLNYLINSNOD aNigTing ‘*m's 2102 @

SNOISIATY
ZGBLL—4 # NOLLVMLISIOZN 40 31vOldILy3D ’
SYIINIONI TYNOISSI40¥d 4O QuvO8 SVX3L mzomm%mmw\m..omo A8 J1vd JON|~N ulslo| o 9_
. N2 S| o
L616'689°CLE FON euoud : - 35 w
aete 11 OSUIDA. opE Mg “0'd \S\J% __"XJ@N3SSV_¥0 _Idvd 3 = 4 3|8
"ONI 'SINVLINSNOD ONIGTINg 4000 SSY1943814 N ) 7_
ONI 08d1SYld |4 BlEle & s
o : AL E
MW&N—.”M&._‘.._OM m_umunvvmm__.hn_ :Ag pelodeld sjuswinsog :119$Naodd m m m M m M
=
o
S 3
o a
E S
n S
Gle
z
<o
Vo
=|c
2 =3
\% ,IA >c
@
o
Q
0 & -
: 2 ®
< = O
L =z
5 [NN]
“ (‘'dAl) e
i} == = NISD
/ S0

EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
w Inswing shown - Outswing also approved

INTERIOR

T
DRYWALL \ r

_:___:‘_:_.__.:_.. 111172

\
%/A N \\\\

INTERIOR

A\

SEE QEI\
[ 1
(\\\\\\
/"2°\ VERTICAL CROSS SECTION
w Outswing shown

1. Spacing foritem L: 3" from each end.
EXTERIOR

NOTE:

£-T 'Bmpag-/8z-X1\sbuimelg Damy "a\z99T Jd\00LT - 1091 [o4d\siapjod Pafoid\salond - v\



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, 2-8

H

™
e

e

™

/

Yl

HINGE JAMB

3"

SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

SEE DETAIL 1

HEAD AND
JAMB (TYP.)

|

7

FRAME ANCHORING

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI)
WOOD (G >= 0.42)

CONCRETE ANCHOR NOTES:

OX

Ol Y|
|

55.06"

14.5' MAX. O.C.
(TYP.)

STRIKE MULLION

1. Concrete anchor locations at the corners may be adjusted to mainfain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance fo mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ITW

TAPCON® ]/4“ ]'3/4" 2'1/2" 3"
ELCO " " L1} 11
ULTRACON 1/4 1-3/4 1 3

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR G
ARCHITECT OF RECORD BASED ON WIND LOADS . <
AND THE CLADDING BEING USED (TYP.). : rfrIP] (TYP)
} ‘l —‘ |s— 3_5"
= g
o2 %
t / v
LI [ I L [
T \ SEE DETAIL 1 —{
SEE HiNGe nalis HEAD AND “_ )
D=L JAMB (TYP.) 3
| 3
i N | ——
ST 0 =
> Z S_ 0
~0 U' Ed - - = >
- (TYP.) _§ & iﬂi
1 m < T
SEE HINGE
DETAIL 2 — - —
/
N 11 1
HINGE MULLION FRAME ANCHORING STRIKE MULLION
9){0]

20,
T

5%

HINGE DETAIL 1

O

LATCH AND DEADBOLT DETAIL

O
@,é

\
\

HINGE DETAIL 2

N/
L
"g

o o0 0 0 o
o 0 0 ©

c o @ 0@
0 0 0 O

— —

—

DETAIL 1

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
FRAME ANCHORING

PRODUCT:

BY

REVISIONS

L
<
[
S
=
2

DATE: 12/04/1

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4288

SHEET 8 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1662\D. RWBC Drawings\TX-4287-88.dwg, 2-9

BILL OF MATERIALS ] a©n
ITEM # | DESCRIPTION MATERIAL e § B § o o
A | 2X FRAMING (G >=0.42) WOOD 1 - £~ g ue
C | 1/4" MAX. SHIM SPACE ; N e e e Y ca 20, 2l
D | 1/4"PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL 2 TS 1 L
K | #10 X 3"PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL B ‘;{g 28g 58
L | #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL } 9 44" oy T 3% @é
M | #8 X 1-1/2" PFH WOOD SCREW STEEL ' ' s 8§R° 83
1| POLY FIBER JAMB POLY FIBER @ POLY FIBER JAMB SPINE I
3| EXT. FRAME ALUM § 3% 26
4 |INT.FRAME ALUM e b Eo3ad 2K
5 | #8 X 1-3/4" PPH SMS STEEL : “" -1 . & |=— 2.088" 2 me
7 | WEATHERSTRIP FOAM i = 9 ; @% 3k
8 | DOOR BOTTOM SWEEP VINYL % m 1 § o
9 | 4"X 4" BUTT HINGE STEEL 3 %\ a
11| #9 X 3/4" PFH WOOD SCREW STEEL LA
12| DOW 995 STRUCTURAL SILICONE SILICONE } }
13 | GLAZING COMPOUND (READI-SEAL) SILICONE WEATHERSTRIP @ DOOR BOTTOM SWEEP ol up
26 | #8 X 3' PFH WOOD SCREW STEEL () Endura Force 5 g gl 3z
27 | LATCH STRIKE PLATE STEEL o £S5
28 | DEADBOLT STRIKE PLATE (SECURITY) STEEL - 4 33
30 | #6 X 3/4" PFH WOOD SCREW STEEL 2.5" B o3 5O
31| TIE PLATE STEEL SIDELITE =83 4o
33 | OUTSWING THRESHOLD ALUM / COMP :'DDAE;'TTEER\ T ADAPTRR & N E
34 | INSWING ADJUSTABLE THRESHOLD ALUM / COMP 5 2 ©
35 | INSWING ADJUSTABLE THRESHOLD w/ SIDELITE ADAPTER ALUM / COMP o~ ' 2 b
36 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM / COMP i % = =
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - %
46 | ADA THRESHOLD ALUM | - _J Is 5.60" -
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS : '
88 | 2X REINFORCEMENT (G >= 0.55) WOQOD INSWING THRESHOLD w/ SIDELITE ADAPTER 34 }-QUISWING THRESHOLD w/ SIDELITE ADAPTER
35 Endura Endura
| 456" L %
] I 0
M o o o o o) 2
O O O O 0
ADA THRESHOLD O O O o
46 DLP
.o O e ® O
2 O o) 0 O
| 5.625" - b D | — O @) O O O =
} & & O o ® o S
. 0 O O o o} =
[ (=) ] e o O o Z
% 3 | DATE: 12/04/12
T 2T i =
1 l 7" DWG. BY: JK
CHK. BY: LFS
33 OUTSWING THRESHOLD % DRAWIP_:_(;( 202288

@ ADJUSTABLE INSWING THRESHOLD
Endura

Endura

(: ) TIE PLATE

sHEer 9 ofF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



